HORNER

LIGHTING GROUP

LMANOO64-01-EN_ShoeBox

Shoe Box Parking / Area / Flood Series

1. INTRODUCTION

The Horner Shoe Box Parking/Area/Flood Series are ideal in most parking applications. The
SB100, SB150, and SB300 excel in perimeter, pathway, flood, general area, and flood projects. The
lightweight durable, design (along with 4 optional mounting brackets) minimizes waste while
maximizing efficacy and ROI. With 3 lens, 2 power, and 3 wattage options are available.

2. TOOLS NEEDED

e Screwdriver
e Pair of wire cutters
e Allen wrench

3. SQUARE POLE MOUNTING

What’s in package: |

Code Name Spec QTY STEP 1

A Fixture

B Fixture bracket

c Socket head screw M8X28
D Pole bracke

E Socket head screw M10X30
F Adapter plate

G

H

Bottom cover Fix the B bracket onto the fixture with

4pcs M8728 screws

B o a N o B oo oo

Cross head screw MBX20

STEP 4

N WHITE

| BLAGK

GREEN

Hook up the fixture with B
bracket onto D bracket

Complete wiring and put back G bottom
cover fixed with 2pcs M6*20 screws

Fix the D bracket onto the pole with 2pcs M10*30
screws with adapter plate in the middle.

STEP5

Now you complete the installation.

10/2/2019

Page 10of 3




HORNER LMANOO64-01-EN_ShoeBox

LIGHTING GROUP

4. YOKE MOUNTING

What's in package: | STEP 2
Code Name Spec QTyY 1 e
A Fixture : Fix the whole fixture onto
B Socket head screw MBX25 4 installation surface with
c Bracket 2pcs M12 expansion screw
bolt (supplied by others)
Fix the bracket onto the fixture with
4pcs M8*25 screws
STEP 3 , STEP4

N WHITE
P L BLACK
D areen

Adjust the fixture to right direction
and fasten tightly again

Process wiring
and complete installation.

5. SLIP FITTER MOUNTING

What'’s in package: ‘ STEP 1 STEP 2
Code Name Spec Q7Y
A Fixture 1
B Bracket 1
c Socket head screw M8X28 4
D Hex screw M8X30 4
Remove the screw on bracket P _’L,»
Fix the bracket onto the fixture to put the wire through bracket Tg_ -
with 4pcs M8*28 screws easily
STEP 3 STEP 4
S = ” w)qz:--‘ﬁo-?\w
¢ LY
e ol
J’ g N WHITE
L BLACK
GREEN
p—
2-3/8"
Put the whole fixture onto the pole and . . 0D Pole
fasten the screws with wrench Now you complete the installation.

10/2/2019 Page 2 of 3



HORNER LMANOO64-01-EN_ShoeBox

LIGHTING GROUP

6. PRECAUTIONS

e Make all electrical connections in accordance with the National Electrical Code and any
applicable local code requirements.
o Verify that supply voltage is correct by comparing it to the nameplate.

WARNING: Risk of electrical shock. Disconnect power before servicing or installing product.
Risque de choc électrique. Coupez I'alimentation avant I'entretien ou l'installation du
produit.

WARNING: Risk of injury or damage. Unit will fall if not installed properly. Follow installation
instructions.
Risque de blessures ou de dommages. Unité va tomber s'il n'est pas installé
correctement. Suivez les instructions d'installation.

CAUTION: Risk of injury. Wear safety glasses and gloves during installation and servicing.
Risque de blessure. Porter des lunettes de sécurité et des gants lors de l'installation
et de I'entretien.

5. TECHNICAL SUPPORT

Tel: 317 916-4274 Fax: 317 639-4279
Web: http://www.hornerlighting.com Email: techsppt@HornerETG.com

10/2/2019 Page 3 of 3


http://www.hornerlighting.com/
mailto:techsppt@HornerETG.com

	Shoe Box Parking / Area / Flood Series
	1. INTRODUCTION
	2.  TOOLS NEEDED
	3. SQUARE POLE MOUNTING
	4.   YOKE MOUNTING
	5.  SLIP FITTER MOUNTING
	6. PRECAUTIONS
	5. TECHNICAL SUPPORT

